










Case Study

John is 58 years old this year, and makes $8,000 a month. 

According to the CPF contribution rates, his CPF contribution will take 
up 13% of his gross income, while his employer’s contribution will take 
up 13% of his gross income. 

John’s CPF contribution: 0.13 x $8,000 = $1,040
His employer’s CPF contribution: 0.13 x $8,000 = $1,040
Total contribution into John’s CPF account: $1,040 + $1,040 = $2,080

According to allocation rates, this is how the $2,080 in CPF 
contributions is distributed among the 3 accounts:

Ordinary Account: 0.12 x $8,000 = $960
Special Account: 0.035 x $8,000 = $280
Medisave Account: 0.105 x $8,000 = $840
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